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69 | $iE| ERM |HEAwE— 51 7 1 1 0

70 |FiE| ER |HBHAE= 58 13 0 3 0

71 | $uE| Y2 |FEAw 54 8 1 1 0
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93 | #iE| t= |W#E 217 0 0 0

94 | FiE| X |Z+/K<H 36 2 2 0 0 18 8 0 1 25 7
95 [#riE| AT |KRIT 121 6 0 1 0

96 [#miE| AT Rk 140 26 8 8 0

97 |#iE| AT |#td 169 1 0 0

98 [#miE| AT [EE 28 2 0 0 0

99 [#riE| AT |PH 26 2 1 1 0

100 $1iE| AT | B SEHEr 90 5 1 0 3 41 11 10 3 39 -2
101 $1E| BIR |FEFRE— 134 5 1 0f Ti;:2
102[#E| KR [FEREZ 63 10 0 4 0
103[#E| KR [FHERE= 40 1 0 0

104 ¥ RIR |HIER 97 2 5 0 0
105[#%| KR [#K 298 4 0 2 0| T 1RmE
106 #7%| FR |4+ 100 3 0 0
107(#hE| FE (IO 90 1 1 0 0

108| 1| BIR |BER 42 1 0 1 0

109 $miE| KR |IRE 34 1 1 0 1 19 16 8 1 26 7
10| /h#2| = KE 17 1 1 0 0
M|k = FEMEIX 65 0 0 0
12|k = FEE2X 75 7 0 2 1

13| /&2 = FEESX 90 0 0 0

14| /hk2| = FERAX 90 0 0 0

15| /h#2| = JKRET Al 1 0 0 0

16| /2] = L FrET 113 3 0 3 0
172 = S ER BT 40 0 0 0

18| /M2 = = HT 2] 1 1 1 0
119|/h 2] = H ERET 70 1 1 0 0

120 /M2 = SR HET 46 3 3 1 0

1211/ 2] = — &My 121 6 1 0 1
122112 = < T 85 1 0 0 1

123l /2] = HAEHT 32 0 0 0

124l 1M 2] = DL 39 10 6 3 0

125 /2] = FH ET 80 1 0 0 0

126 /2] = =4 36 2 0 0
127112 = =< 140 2 2 0 0

128 /2] = Ea 24 0 0 0
129|/h2] = [iic]:i)) 17 0 0 0

130 /2| = 2 XHT 65 0 0 0
1312 = =] 47 0 0 0 37 17 10 3 41 4
132| /2| FHE [ < HHT 18 1 1 0 0

133| /M #2| FHE |HHT 36 4 3 1 0

134| /2| FHRE |REHET 18 1 0 1 0

135| /M #2| FHE |5iHT 33 5 0 1 0

136| /M ¥2| FHE |$nHT 22 6 2 3 0

137 /2| PR |EZEHET 108 8 3 1 0
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